



## Some New Generalizations of Steffensen's Inequality

W. T. Sulaiman<sup>1\*</sup>

<sup>1</sup>Department of Computer Engineering, College of Engineering, University of Mosul, Iraq.

### Research Article

Received: 31<sup>st</sup> March 2012  
Accepted: 14<sup>th</sup> October 2012  
Published: 1<sup>st</sup> December 2012

### Abstract

Extensions and new inequalities concerning Steffensen's inequality are presented.

2000 Mathematics Subject Classification: 26D15, 26D10

Keywords: Steffensen's inequality, integral inequality.

### 1 Introduction

Steffensen's inequality reads as follows:

**Theorem 1.1** Assume that two integrable functions  $f$  and  $g$  are defined on the interval  $(a,b)$ , that is  $f$  non- increasing and that  $0 \leq g(t) \leq 1$  in  $(a,b)$ . Then

$$\int_{b-}^b f(t) dt \leq \int_a^b f(t) g(t) dt \leq \int_a^{a+} f(t) dt, \quad (1)$$

where  $\int_a^b g(t) dt = 1$ .

As an example to Steffensen's inequality, we can take the following:

$$f(t) = \frac{1}{1+t^2}, \quad g(t) = t, \quad a = 0, \quad b = 1, \quad \text{to have} \\ 0.32 < 0.34 < 0.46.$$

Bellman(1950) gives the following generalization via new proof .

**Theorem 1.2** Let  $f(t)$  be a non-negative and monotone decreasing in  $[a,b]$  and

\*Corresponding author: waadsulaiman@hotmail.com;

$\in L^p[a, b]$  and let  $g(t) \geq 0$  in  $[a, b]$  and  $\int_a^b g(t) dt \leq 1$ , where  $p > 1$  and  $(1/p) + (1/q) = 1$ . Then

$$\left( \int_a^b f(t) g(t) dt \right)^p \leq \int_a^{a+} f^p(t) dt \left( \int_a^b g(t) dt \right)^p. \quad (2)$$

It may be mentioned that Bellman's result is not correct as has been mentioned by Godunova and Levin (1968), A generalization in a different sense is made for  $p \leq 1$ . Inequality for  $p \geq 1$ , which similar to inequality (2) is given in Berch ((1973),

Pecaric (1982), however, through some modification, gives the following result

**Theorem 1.3** Let  $f : [0,1] \rightarrow \mathfrak{R} = (-\infty, \infty)$  be a nonnegative and non-increasing function and let  $g : [0,1] \rightarrow \mathfrak{R}$  be an integrable function such that  $0 \leq g(t) \leq 1$  for each  $t \in [0,1]$ . If  $p \geq 1$ , then

$$\left( \int_0^1 f(t) g(t) dt \right)^p \leq \int_0^1 f^p(t) dt, \quad (3)$$

where  $\int = \left( \int_0^1 g(t) dt \right)^p$ .

The aim of this paper is to give a generalization of Theorem 1.2, as well as other new results concerning Steffensen's inequality.

## 2 Results

The following theorem gives a generalization of Theorem 1.2.

**Theorem 2.1** Let  $f, h : [a, b] \rightarrow \mathfrak{R}$  be nonnegative functions with  $f$  non-increasing and let  $g : [a, b] \rightarrow \mathfrak{R}$  be an integrable function such that  $0 \leq L^{p-1} g(t) \leq h(t)$  for

each  $t \in [a, b]$ , where  $L = \int_a^b g(t) dt$ . If  $p \geq 1$ , then

$$\left( \int_a^b f(t) g(t) dt \right)^p \leq \int_a^{a+} f^p(t) h(t) dt, \quad (4)$$

where  $\int_a^{a+\} h(t) dt = L^p$ .

**Proof.** Since by Hölder's inequality

$$\left( \int_a^b f(t) g(t) dt \right)^p \leq \left( \int_a^b f^p(t) g(t) dt \right) \left( \int_a^b g(t) dt \right)^{p-1},$$

then, it is sufficient to prove that

$$\int_a^{a+\} f^p(t) h(t) dt \geq L^{p-1} \int_a^b f^p(t) g(t) dt.$$

We have

$$\begin{aligned} & \int_a^{a+\} f^p(t) h(t) dt - L^{p-1} \int_a^b f^p(t) g(t) dt \\ &= \int_a^{a+\} f^p(t) h(t) dt - L^{p-1} \int_a^{a+\} f^p(t) g(t) dt - L^{p-1} \int_{a+\}^b f^p(t) g(t) dt \\ &= \int_a^{a+\} f^p(t) (h(t) - L^{p-1} g(t)) dt - L^{p-1} \int_{a+\}^b f^p(t) g(t) dt \\ &\geq f^p(a+\}) \int_a^{a+\} (h(t) - L^{p-1} g(t)) dt - L^{p-1} f^p(a+\}) \int_{a+\}^b g(t) dt \\ &= f^p(a+\}) \left( \int_a^{a+\} h(t) dt - L^{p-1} \int_a^b g(t) dt \right) \\ &= f^p(a+\}) \left( \int_a^{a+\} h(t) dt - L^p \right) = 0. \end{aligned}$$

As an example, we can take:

$$f(t) = \frac{1}{1+t^2}, \quad g(t) = t, \quad h(t) = 1, \quad p = 2, \quad a = 0, \quad b = 1.$$

**Remark.** Theorem 1.2 follows from Theorem 2.1 by putting

$$a = 0, \quad b = 1, \quad h(t) = 1.$$

**Corollary 2.2.** Let  $f, h : [a, b] \rightarrow \mathfrak{R}$  be nonnegative functions with  $f$  non-increasing and let  $g : [a, b] \rightarrow \mathfrak{R}$  be an integrable function such that  $0 \leq L^{p-1}g(t) \leq h(t)$  for each  $t \in [a, b]$ , where  $L = \int_a^b g(t) dt$ . If  $p \geq 1$ , then

$$\left( \int_a^b f(t) G(t) dt \right)^p \leq \int_a^{a+} F^p(t) h(t) dt, \tag{5}$$

where  $\int_a^{a+} h(t) dt = L^p$ , and  $F, G$  are defined by

$$G(t) = \int_a^t g(u) du, \quad F(t) = \int_t^b f(t) dt.$$

In particular, if  $g$  is non-increasing, then

$$\int_0^1 \left( \int_t^1 f(u) du \right)^p dt \geq \left( \int_0^1 t f(t) g(t) dt \right)^p. \tag{6}$$

**Proof.** We have via Theorem 2.1,

$$\begin{aligned} \int_a^{a+} F^p(t) h(t) dt &\geq \left( \int_a^b F(t) g(t) dt \right)^p \\ &= \left( \int_a^b \int_t^b f(u) g(t) dt du \right)^p \\ &= \left( \int_a^b f(u) \int_a^t g(t) dt du \right)^p \\ &= \left( \int_a^b f(t) G(t) dt \right)^p. \end{aligned}$$

Now, if  $a = 0, b = 1$  in (4), we have

$$\begin{aligned} \int_0^1 \left( \int_t^1 f(u) du \right)^p h(t) dt &\geq \left( \int_0^1 f(t) G(t) dt \right)^p \\ &= \left( \int_0^1 f(t) \int_0^t g(u) du dt \right)^p \end{aligned}$$

$$\geq \left( \int_0^1 t f(t) g(t) dt \right)^p.$$

The following gives the inequality for the case  $0 < p \leq 1$ .

**Theorem 2.3.** Let  $f, h : [a, b] \rightarrow \mathfrak{R}$  be nonnegative functions and  $f$  non-decreasing and let  $g : [a, b] \rightarrow \mathfrak{R}$  be an integrable function such that  $0 \leq L^{p-1} g(t) \leq h(t)$  for each

$t \in [a, b]$ , where  $L = \int_a^b g(t) dt$ . If  $0 < p \leq 1$ , then

$$\left( \int_a^b f(t) g(t) dt \right)^p \geq \int_a^{a+} f^p(t) h(t) dt, \tag{7}$$

where  $\int_a^{a+} h(t) dt = L^p$ .

**Proof.** Since by Hölder's inequality

$$\left( \int_a^b f(t) g(t) dt \right)^p \geq \left( \int_a^b f^p(t) g(t) dt \right) \left( \int_a^b g(t) dt \right)^{p-1},$$

then, it is sufficient to prove that

$$\int_a^{a+} f^p(t) h(t) dt \leq L^{p-1} \int_a^b f^p(t) g(t) dt.$$

We have

$$\begin{aligned} & L^{p-1} \int_a^b f^p(t) g(t) dt - \int_a^{a+} f^p(t) h(t) dt \\ &= L^{p-1} \int_a^{a+} f^p(t) g(t) dt + L^{p-1} \int_{a+}^b f^p(t) g(t) dt - \int_a^{a+} f^p(t) h(t) dt \\ &= \int_a^{a+} f^p(t) (L^{p-1} g(t) - h(t)) dt + L^{p-1} \int_{a+}^b f^p(t) g(t) dt \\ &\geq f^p(a+) \int_a^{a+} (L^{p-1} g(t) - h(t)) dt + L^{p-1} f^p(a+) \int_{a+}^b g(t) dt \\ &= f^p(a+) \left( L^{p-1} \int_a^b g(t) dt - \int_a^{a+} h(t) dt \right) \end{aligned}$$

$$= f^p(a+) \left( L^p - \int_a^{a+} h(t) dt \right) = 0.$$

### 4 Steffensen's Inequality via Double Integrals

**Theorem 3.1** Let  $f, h : [a, b] \times [c, d] \rightarrow \mathfrak{R}$  be nonnegative functions and  $f$  non-increasing w.r.t  $s$  and let  $g : [a, b] \times [c, d] \rightarrow \mathfrak{R}$  be an integrable function such that

$$0 \leq L^{p-1} g(s, t) \leq h(s, t) \text{ for all } s \in [a, b], t \in [c, d], \text{ where } L = \int_a^b g(s, t) ds. \text{ If } p \geq 1,$$

then

$$\frac{1}{(b-a)^p} \left( \int_c^d \int_a^b f(s, t) g(s, t) ds dt \right)^p \leq \int_c^d \int_a^{a+} f^p(s, t) h(s, t) ds dt, \tag{8}$$

where  $\int_a^{a+} h(s, t) ds = L^p, 0 \leq \int \leq b - a$ . In particular

$$\frac{1}{(b-a)^p} \left( \int_a^b \int_a^b f(s, t) g(s, t) ds dt \right)^p \leq \int_a^b \int_a^{a+} f^p(s, t) h(s, t) ds dt, \tag{9}$$

$$\frac{1}{(b-a)^p} \left( \int_a^{a+} \int_a^b f(s, t) g(s, t) ds dt \right)^p \leq \int_a^{a+} \int_a^{a+} f^p(s, t) h(s, t) ds dt,$$

(10)

**Proof.** Since for any non-negative function  $m(x)$ , we have, by Hölder's inequality

$$\left( \int_a^b m(x) dx \right)^p \leq \int_a^b m^p(x) dx \left( \int_a^b dx \right)^{p-1} = (b-a)^{p-1} \int_a^b m^p(x) dx,$$

then, we have via above and Theorem 2.1,

$$\left( \int_a^b f(s, t) g(s, t) ds \right)^p \leq \int_a^{a+} f^p(s, t) h(s, t) ds,$$

which implies

$$\int_c^d \left( \int_a^b f(s, t) g(s, t) ds \right)^p dt \leq \int_c^d \int_a^{a+} f^p(s, t) h(s, t) ds dt.$$

But

$$\int_c^{d} \int_a^{a+} f^p(s,t) g(s,t) dsdt \geq \frac{1}{(b-a)^p} \left( \int_c^d \int_a^b f(s,t) h(s,t) dsdt \right)^p,$$

then

$$\frac{1}{(b-a)^p} \left( \int_c^d \int_a^b f(s,t) g(s,t) dsdt \right)^p \leq \int_c^d \int_a^{a+} f^p(s,t) h(s,t) dsdt.$$

**Theorem 3.2** Let  $f, h : [a, b] \times [c, d] \rightarrow \mathfrak{R}$  be nonnegative functions and  $f$  non-increasing w.r.t  $s$  and  $t$ , let  $g : [a, b] \times [c, d] \rightarrow \mathfrak{R}$  be an integrable function such that

$$0 \leq M^{2-1/p} g(s,t) \leq h(s,t) \text{ for all } s \in [a, b], t \in [c, d], \text{ where } M^p = \int_a^b g(s,t) ds.$$

If  $p \geq 1/2$ , then

$$\left( \int_a^{a+} \int_a^b f(s,t) g(s,t) dsdt \right)^{2p} \leq \int_a^{a+} \int_a^{a+} f^{2p}(s,t) h(s,t) dsdt \tag{11}$$

where  $\int_a^{a+} \int_a^{a+} h(s,t) dsdt = M^{2-1/p} \int_a^{a+} \int_a^b g(s,t) dsdt.$

**Proof.**

$$\begin{aligned} & \int_a^{a+} \int_a^{a+} f^{2p}(s,t) h(s,t) dsdt - M^{2-1/p} \int_a^{a+} \int_a^b f^{2p}(s,t) g(s,t) dsdt \\ &= \int_a^{a+} \int_a^{a+} f^{2p}(s,t) h(s,t) dsdt - M^{2-1/p} \int_a^{a+} \int_a^{a+} f^{2p}(s,t) g(s,t) dsdt \\ & \quad - M^{2-1/p} \int_a^{a+} \int_{a+}^b f^{2p}(s,t) g(s,t) dsdt \\ &= \int_a^{a+} \left( \int_a^{a+} f^{2p}(s,t) h(s,t) ds - M^{2-1/p} \int_a^{a+} f(s,t) g(s,t) ds \right. \\ & \quad \left. - M^{2-1/p} \int_{a+}^b f^{2p}(s,t) g(s,t) ds \right) dt \end{aligned}$$

$$\begin{aligned}
 &= \int_a^{a+\} \left( \int_a^{a+\} f^{2p}(s,t) (h(s,t) - M^{2-1/p} g(s,t)) ds - M^{2-1/p} \int_{a+\}^b f^{2p}(s,t) g(s,t) ds \right) dt \\
 &\geq \int_a^{a+\} \left( f^{2p}(a+\}, t) \left( \int_a^{a+\} h(s,t) ds - M^{2-1/p} \int_a^{a+\} g(s,t) ds \right) - \right. \\
 &\qquad \qquad \qquad \left. - M^{2-1/p} f^{2p}(a+\}, t) \int_{a+\}^b g(s,t) ds \right) dt \\
 &= \int_a^{a+\} \left( f^{2p}(a+\}, t) \left( \int_a^{a+\} h(s,t) ds - M^{2-1/p} \int_a^b g(s,t) ds \right) \right) dt \\
 &\geq f(a+\}, a+\} \left( \int_a^{a+\} \int_a^{a+\} h(s,t) ds dt - M^{2-1/p} \int_a^{a+\} \int_a^b g(s,t) ds dt \right) \\
 &\geq 0.
 \end{aligned}$$

### 5 Steffensen's Inequality via Hölder's, Minkowski's and Hardy-Hilbert's Inequalities

**Theorem 4.1.** *Let the conditions of Theorem 2.1 are satisfied. Let  $p > 1$ ,  $1/p + 1/q = 1$ . Then*

$$\int_a^b f_1^{1/p}(t) f_2^{1/q}(t) g(t) dt \leq \left( \int_a^{a+\} f_1^p(t) h(t) dt \right)^{1/p^2} \left( \int_a^{a+\} f_2^q(t) h(t) dt \right)^{1/q^2}. \tag{12}$$

**Proof.** We have, by Theorem 2.1, via Hölder's inequality

$$\begin{aligned}
 &\int_a^b f_1^{1/p}(t) f_2^{1/q}(t) g(t) dt \\
 &= \int_a^b f_1^{1/p}(t) g^{1/p}(t) f_2^{1/q}(t) g^{1/q}(t) dt \\
 &\leq \left( \int_a^b f_1(t) g(t) dt \right)^{1/p} \left( \int_a^b f_2(t) g(t) dt \right)^{1/q}
 \end{aligned}$$



$$\leq \left( \int_a^{a+} f_1^p(t) h(t) dt \right)^{1/p^2} \left( \int_a^{a+} f_2^q(t) h(t) dt \right)^{1/q^2} .$$

**Theorem 4.2.** . Let the conditions of Theorem 2.1 are satisfied. Let  $p > 1$ ,  $1/p + 1/q = 1$ ,  $r \geq 1$ . Then

$$(13) \quad \left( \int_a^b f_1(t) f_2(t) g^2(t) dt \right)^{1/r} \leq \frac{1}{p} \left( \int_a^{a+} f_1^p(t) h(t) dt \right)^{1/r} + \frac{1}{q} \left( \int_a^{a+} f_2^q(t) h(t) dt \right)^{1/r} .$$

**Proof.** We have, via Minkowski's inequality

$$\begin{aligned} \left( \int_a^b f_1(t) f_2(t) g^2(t) dt \right)^{1/r} &= \left( \int_a^b \left( f_1^{\frac{1}{r}}(t) g^{\frac{1}{r}}(t) f_2^{\frac{1}{r}}(t) g^{\frac{1}{r}}(t) \right)^r dt \right)^{1/r} \\ &\leq \left( \int_a^b \left( \frac{f_1^{\frac{p}{r}}(t) g^{\frac{p}{r}}(t)}{p} + \frac{f_2^{\frac{q}{r}}(t) g^{\frac{q}{r}}(t)}{q} \right)^r dt \right)^{1/r} \\ &\leq \left( \int_a^b \frac{f_1(t) g(t)}{p^r} dt \right)^{1/r} + \left( \int_a^b \frac{f_2(t) g(t)}{q^r} dt \right)^{1/r} \\ &= \frac{1}{p} \left( \int_a^b f_1(t) g(t) dt \right)^{1/r} + \frac{1}{q} \left( \int_a^b f_2(t) g(t) dt \right)^{1/r} \\ &\leq \frac{1}{p} \left( \int_a^{a+} f_1^p(t) h(t) dt \right)^{1/r} + \frac{1}{q} \left( \int_a^{a+} f_2^q(t) h(t) dt \right)^{1/r} . \end{aligned}$$

Hardy-Hilbert's integral inequality has been extended by Yang (2001) via presenting the following result

$$\text{If } u > 2 - \min\{p, q\}, 0 < \int_0^\infty x^{1-u} f^p(x) dx < \infty, 0 < \int_0^\infty x^{1-u} g^q(x) dx < \infty, p > 1,$$

$1/p + 1/q = 1$ . Then

$$\int_0^\infty \int_0^\infty \frac{f(x) g(y)}{(x+y)^u} dx dy < k_u(p) \left( \int_0^\infty x^{1-u} f^p(x) dx \right)^{1/p} \left( \int_0^\infty x^{1-u} g^q(x) dx \right)^{1/q} ,$$

where  $k_u(p) = B\left(\frac{p+u-2}{p}, \frac{q+u-2}{q}\right)$ , is the best possible,  $B$  stands for the beta function.

**Theorem 4.3** Let the conditions of Theorem 2.1 are satisfied for both  $f$  and  $g$  with  $x^{1-u} f^p(x)$ ,  $x^{1-u} g^q(x)$ ,  $h(t) = 1$ ,  $a = 0$ ,  $b = \infty$ . Let  $p > 1$ ,  $1/p + 1/q = 1$ ,  $u > 2 - \min\{p, q\}$ . Then

$$\int_0^\infty \int_0^\infty \frac{f(x)h(y)g^{\frac{1}{p}}(x)g^{\frac{1}{q}}(y)}{(x+y)^u} dx dy \leq k_u(p) \left( \int_0^\infty x^{(1-u)p} f^{p^2}(x) dx \right)^{1/p^2} \left( \int_0^\infty x^{(1-u)q} h^{q^2}(x) dx \right)^{1/q^2} \quad (14)$$

**Proof.** We have via Hardy-Hilbert's integral inequality

$$\int_0^\infty \int_0^\infty \frac{f(x)h(y)g^{\frac{1}{p}}(x)g^{\frac{1}{q}}(y)}{(x+y)^u} dx dy < k_u(p) \left( \int_0^\infty x^{1-u} f^p(x)g(x) dx \right)^{1/p} \left( \int_0^\infty x^{1-u} h^q(x)g(x) dx \right)^{1/q} \leq k_u(p) \left( \int_0^\infty x^{(1-u)p} f^{p^2}(x) dx \right)^{1/p^2} \left( \int_0^\infty x^{(1-u)q} h^{q^2}(x) dx \right)^{1/q^2}$$

## 6 Conclusion

Three results are given as generalizations of Steffensen's inequality. Other two results concerning inequalities are similar to Steffensen's inequality but with double integrals. As well three other results are similar to Steffensen's inequalities via Hölder's, Minkowski's and Hardy-Hilbert's inequalities.

## Acknowledgements

The author is so grateful to the referees who read through the paper very well and corrected many mistakes.

## Competing Interests

Author has declared that no competing interests exist.

## References

Bellman, R. (1950). On inequalities with alternating signs. Proc. Amer. Math. Soc., 10, 807-809.

Beckenbach, E.F., Bellman, R. (1965). "Inequalities", Springer –Verlag, Berlin,

Berch, J. (1973). A generalization of Steffensen's inequality. J. Math. Anal. Appl. 41 (1973), 187-191.

Godunova, E.K., Levin, V.I. (1968). A general class of inequalities concerning Steffensen's inequality, Mat. Zametki, 3, 339-344 (Russian).

Mitrinovic, D.S. (1970). (in cooperation with Vasic, P. M.). Analytic Inequalities, Springer – Verlag, Berlin-Heidelber-New York, 1970.

Pecaric, J.E. (1982), On the Bellman generalization of Steffencens's inequality. J. Math. Anal. Appl., 88(1), 505-507.

Steffensen, J.F. (1918). On certain inequalities between mean values and their application to actuarial problems. Skandinavisk Akturietidsrift (1918), 82-97.

Sulaiman, W.T. (2005). Some generalizations of Steffensen's inequality. Australian Journal of Mathematical Analysis, 2(1), 1-8.

Yang, B. (2001). On Hardy-Hilbert's integral inequality. J. Math. Anal. Appl., 261, 295-306.

---

© 2012 Sulaiman; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/3.0>), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

*Peer-review history:*

*The peer review history for this paper can be accessed here:*  
<http://www.sciencedomain.org/review-history.php?iid=148&id=6&aid=745>.